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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, méhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Define Management and Organization and work out 

the relationship between them. 

izcU/ku rFkk laxBu dks ifjHkkf”kr dhft, rFkk muds e/; 

lEcU/k irk dhft,A 

2. ‗Planning helps in reducing uncertainty.‘ Commit and 

briefly describe the process of planning. 

^fu;kstu vfuf’prrk dks de djus esa lgk;rk djrk gSA* 

fVIi.kh dhft, rFkk fu;kstu izfØ;k dk laf{kIr fooj.k 

nhft,A 

3. ‗Change and controls are generally resisted by people.‘ 

Comment and suggest how they can be made 

acceptable. 

^ifjorZu rFkk fu;a=.k dk lkekU;r% yksx fojks/k djrs gSaA* 

fVIi.kh dhft, rFkk lq>ko nhft, fd bUgsa dSls Lohdk;Z 

cuk;k tk ldrk gS \ 

4. What are common barriers to communication ? 

Suggest how we can communicable effectively ? 

lans’kokgu esa lkekU; ck/kd D;k gaS \ lq>ko nhft, fd ge 

dSls izHkko’kkyh :i ls lapkj dj ldrs gSa \ 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Explain] what do you understand by management 

being universal and continuous process. 

le>kb,] vki izcU/ku ds loZO;kih rFkk fujUrj izfØ;k gksus 

ls D;k le>rs gSaA 

2. Differentiate clearly between formal and informal 

organisation. 

vkSipkfjd rFkk vukSipkfjd laxBu esa vUrj Li”V dhft,A 

3. What is administrative management ? Explain the 

principles of administrative management. 

iz’kklfud izcU/k D;k gS \ iz’kklfud izcU/k ds fl)kUrksa dks 

le>kb,A 

4. What are the limitations of money as a motivator ?  

vfHkizsjd ds :i esa eqnzk dh D;k lhek,¡ gSa \ 

5. State various steps of the control process. 

fu;a=.k izfØ;k ds fofHké pj.k crkb,A 
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6. State various qualities of an effective leader. 

,d izHkko’kkyh usrk ds fofHké xq.k crkb,A 

7. Write a lucid note on Management by Objectives 

(MBO). 

mís’;ijd~ izcU/ku ij ,d Li”V fVIi.kh fyf[k,A 

8. Name various theories of management and explain any 

one of them. 

izcU/k ds fofHké fl)kUrksa ds uke nhft, rFkk muesa ls fdlh 

,d dks le>kb,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. F. W. Taylor was an Engineer by Profession.  

(True/False) 

,Q- MCY;w- Vsyj is’ks ls ,d vfHk;a=d FksA ¼lR;@vlR;½ 

2. Of all manager, those working at top level do least 

planning.   (True/False) 
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lHkh izcU/kdksa esa og tks mPp Lrj ij dk;Zjr gSa U;wure 

fu;kstu djrs gSaA   ¼lR;@vlR;½ 

3. Needs hierarchy theory is related to motivation. 

(True/False) 

vko’;drk lksiku Ük`a[kyk fl)kUr dk lEcU/k vfHkizsj.k ls 

gSA    ¼lR;@vlR;½ 

4. PERT/CPM are tools of communication. (True/False) 

PERT/CPM lans’kokgu ds midj.k gSaA ¼lR;@vlR;½ 

5. Span of control implies deciding upon policies for 

control.   (True/False) 

fu;a=.k ds foLrkj ls vk’k; gS fu;a=.k gsrq uhfr;k¡ r; 

djukA   ¼lR;@vlR;½ 

Multiple Choice Questions : 

cgqfodYih; iz’u % 

6. Methods study is part of : 

(a) administration management 

(b) scientific management 

(c) financial management 

(d) human resourece management 

fof/k v/;;u Hkkx gS % 

¼v½ iz’kklfud izcU/k dk 

¼c½ oSKkfud izcU/k dk 

¼l½ foŸkh; izcU/k dk 

¼n½ ekuo lalk/ku izcU/k dk 
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7. Johari window is for analysis of : 

(a) personality 

(b) work 

(c) relationships  

(d) accounting systems 

tkSgjh f[kM+dh }kjk fuEufyf[kr esa ls fdldk fo’ys”k.k 

fd;k tkrk gS \ 

¼v½ O;fDrRo dk 

¼c½ dk;Z dk 

¼l½ lEcU/kkaas dk 

¼n½ ys[kk i)fr;ksa dk 

8. Organising implies division of : 

(a) tasks 

(b) authority 

(c) responsibility 

(d) All of the above 

laxBu esa fuEufyf[kr esa ls fdldk foHkktu fufgr gS \ 

¼v½ fØ;kvksa dk 

¼c½ vf/kdkjksa dk  

¼l½ mŸkjnkf;Roksa dk 

¼n½ mi;qZDRk lHkh dk 

9. Planning premises can relate to : 

(a) past 

(b) present 

(c) future 

(d) All of the above 
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fu;kstu vo/kkj.kk,¡ lEcfU/kr gks ldrh gSa % 

¼v½ iwoZ ls 

¼c½ orZeku ls 

¼l½ Hkfo”; ls 

¼n½ mi;qZDRk lHkh ls 

10. Out of the following the most recent is : 

(a) theory of human behaviour 

(b) theory of scientific management 

(c) theory of administrative management 

(d) theory of systems 

fuEufyf[kr esa ls lokZf/kd vfHkuo gS % 

¼v½ ekuo O;ogkj dk fl)kUr 

¼c½ oSKkfud izcU/k dk fl)kUr 

¼l½ iz’kklfud izcU/k dk fl)kUr 

¼n½ O;oLFkk iz.kkyh dk fl)kUr 
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